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0o |TrEEEl 1.8 3.4 5.9 7.0 8.8 10.5 13.5 16.1 20.2 93.8
(kg f/
=] == ]—I:
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NO @ 1 NO : 2 NO : 3
WW = 1040.5 WW = 1025.7 W =
DW = 946.5 Tw = 205.1 oW = 938.0 Tw = 179.5 oW = Tw =
Ww = 94 Ws = 741.4 Ww = 87.7 Ws = 758.5 Ww = Ws =
= 12.7% = 11.6% W=
Yol o 12.1%
2. HISH A8
== 2N I ER EEREENMEEE = o . r=o| 2E
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13:21 1 0.0260f 0.0260 119.1 119.1 10.9128 0.0040 0.0434 25 0.0020] 0.0280 38.8% 35.2%
13:22 2 0.0240] 0.0240 123.0 61.5 7.8408 0.0040 0.0312 25 0.0020] 0.0260 36.0%  32.7%
13:25 5 0.0210f 0.0210 128.8 25.8 5.0747 0.0040 0.0202 25 0.0020] 0.0230 31.9% 29.1%
13:35 15 0.0170] 0.0170 136.5 9.1 3.0166 0.0040 0.0120 25 0.0020] 0.0190 26.3%|  24.2%
13:50 30 0.0160f 0.0160 138.4 4.6 2.1481 0.0040 0.0085 25 0.0020f 0.0180 24..9% 23.0%
14:20 60 0.0145] 0.0145 141.3 2.4 1.5348 0.0040 0.0061 25 0.0020] 0.0165 22.9%  21.2%
17:20 240 0.0125[ 0.0125 145.2 0.6 0.7778 0.0040 0.0031 25 0.0020] 0.0145 20. 1% 18.7%
13:20 1440 0.0110] 0.0110 148. 1 0.1 0.3207 0.0040 0.0013 25 0.0020] 0.0130 18.0%|  16.9%
HUAHAS EX (Cm) : 0.0009 1:8H 282 Z0IAl =241.0000HXI 22 0l (m) 107.59
Ws/V (g/cm) : SEM 1M & HAZTAIZR 2:2H 2o TOA =241.0507HXI 2 2 0l (mm) 10.87
Lb : 8 72 20| (mm) 136.84
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0.85mm(NO.20) 1 437.3 446. 1 8.80 7. 7% 7. 7% 92.3% 82.2%
0.425mm(NO.40) 2 369.7 390.8 21.10 18.4% 26.0% 74.0% 65.9%
0.25mm(N0.60) 3 380.0 390.3 10.30 9.0% 35.0% 65.0% 57.9%
0.106mm(NO. 140) 4 345.1 359.0 13.90 12.1% 47 .1% 52.9% 47.1%
0.075mm(NO.200) 5 355.5 364.9 9.40 8.2% 55.3% 44 . 7% 39.8%
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75.0m| 1 437 .10 437.10 0.00| 0.0% | 0.0% | 100.0%
53.0mm| 2 461.90 461.90 0.00 | 0.0% | 0.0% | 100.0%
37.5mn| 3 471.60 471.60 0.00 | 0.0% | 0.0% | 100.0%
%6.5mm| 4 469.50 482.70 | 13.20 | 0.5% | 0.5% | 99.5%
19.00m| 5 456.80 473.20 | 16.40 | 0.6% | 1.1% | 98.9%
9.5mm 6 489.70 535.00 | 45.30 | 1.7% | 2.8% | 97.2%
4.75m| 7 504.00 584.10 | 60.10 | 2.3% | 5.1% | 94.9%
2.0mm 8 431.10 588.80 | 157.70 | 5.9% | 11.0% | 89.0%
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